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Number Series Questions for SBI Clerk Mains, IBPS Clerk Mains, 
RBI Assistant Mains, LIC AAO, SBI PO Pre, IBPS PO Pre and RRB 
Scale I Pre Exams. 
No Series Quiz 62 
 

Directions : Find the wrong term in the given series. 
 

1. 7      16      73      500      5488      71314   

A. 5488  B. 73   C. 500   D. 16   E. 71314 

 
2. 15      65      125      133      60      20  

A. 65   B. 133   C. 125   D. 60   E. 20 

 

3. 9      20      52      100      159      226  

A. 52   B. 100   C. 20   D. 226   E. 159 

 

4. 1.21      2.69      4.25      5.98      7.61      9.41 

A. 2.69   B. 7.61   C. 4.25   D. 9.41   E. 5.98 

 

5.  1210      1584      2025      2548      3150      3840 

A. 2025  B. 3840  C. 3150  D. 1584  E. 2548 
 

6.  12      24      48      144      915      13200 

A. 48   B. 915   C. 144   D. 13200  E. 24 
 

7.  8      18      49      98      242      338 

A. 242   B. 49   C. 98   D. 338   E. 18 
 

8.  7      18      50      124      281      608 

A. 50   B. 18   C. 281   D. 124   E. 608 
 

9.  42      49      68      93      130       177 

A. 130   B. 42   C. 49   D. 53   E. 68 
 

10.  22      30       53      108      172     282 

A. 22   B. 30   C. 108   D. 172   E. 282 
Correct Answers: 



 

1 2 3 4 5 6 7 8 9 10 

A B D E A B B C E C 

 

 

 

 

 

 

 

 

  

https://t.me/smartkeedaofficial


 

Explanations: 
 
1.    

Series Pattern  Given Series   

7 7 ✓ 

7 × 3 – 5 = 16 16 ✓ 

16 × 5 – 7 = 73 73 ✓ 

73 × 7 – 11 = 500 500 ✓ 

500 × 11 – 13 = 5487 5488 ✕ 

5487 × 13 – 17 = 71314 71314 ✓ 

 
Therefore, there must be 5487 in place 5488.  
Hence, option (A) is correct. 

 
 

2.  
Series Pattern  Given Series   

15  15 ✓ 

15 × 4 + 5 = 65 65 ✓ 

65 × 2 – 5 = 125 125 ✓ 

125 × 1 + 5 = 130 133 ✕ 

130 × 0.5 – 5 = 60 60 ✓ 

60 × 0.25 + 5 = 20 20 ✓ 

 
Therefore, there must be 130 in place 133.  
 
Hence, option (B) is correct. 

 

 

3. Series Pattern: 

 

Series I :  9   20   52   100   159   224     
Series II :   +11   +32   +48   +59   +65       
Series III  :     +21   +16   +11   +6         
Series IV :       – 5   – 5   – 5           

 
Hence, there must be 224 in place of 226. 

  Therefore option (D) is correct. 
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4.    
Series Pattern  Given Series   

0 + (1.1)2 = 1.21 1.21 ✓ 

 1 + (1.3)2 = 2.69 2.69 ✓ 

2 + (1.5)2 = 4.25 4.25 ✓ 

3 + (1.7)2 = 5.89 5.98 ✕ 

4 + (1.9)2 = 7.61 7.61 ✓ 

5 + (2.1)2 = 9.41 9.41 ✓ 

 
Hence, there must be 5.89 in place of 5.98. 
  
Therefore option (E) is correct. 

 
 

5.  
Series Pattern  Given Series   

113 – 112 = 1210 1210 ✓ 

123 – 122 = 1584 1584 ✓ 

133 – 132 = 2028 2025 ✕ 

143 – 142 = 2548 2548 ✓ 

153 – 152 = 3150 3150 ✓ 

163 – 162 = 3840 3840 ✓ 

 
Hence, there must be 2028 in place of 2025. 

  
Therefore option (A) is correct. 

 
 

6. Series Pattern: 

 

Series I :  12   24   48   144   912   13200     
Series II :   +12   +24   +96   +768   + 12288       
Series III  :     × 2   × 4   × 8   × 16         

 
Hence, there must be 912 in place of 915. 

  
Therefore option (B) is correct. 
 



 

 
7.  

Series Pattern      Given Series    

2 × 4 = 8 8 ✓ 

3 × 6 = 18 18 ✓ 

5 × 10 = 50 49 ✕ 

7 × 14 = 98 98 ✓ 

11 × 22 = 242 242 ✓ 

13 × 26 = 338 338 ✓ 

 
The pattern of the series is :- 1st number is the prime number and the 2nd second number is (2 × prime 
number) and the series continues this way. 
 
Hence, there must be 50 in place of 49. 
  
Therefore option (B) is correct. 
 
 

8.  
Series Pattern  Given Series   

7 7 ✓ 

7 × 2 + 4 = 18 18 ✓ 

18 × 2 + 14 = 50 50 ✓ 

50 × 2 + 24 = 124 124 ✓ 

124 × 2 + 34 = 282 281 ✕ 

282 × 2 + 44 = 608 608 ✓ 

 
Therefore, there must be 282 in place 281.  
 
Hence, option (C) is correct. 

 
 

9. Series Pattern: 

Series :  42   49   66   93   130     177   
      + 7   + 17   + 27   + 37   +47       

 
Hence, there must be 66 in place of 68. 

  Therefore option (E) is correct. 
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10. Series Pattern: 

 

Series :  22   30   53   98   172      282     
      + 8   + 23   + 45   + 74   + 110       

        + 15   + 22   + 29   + 36         
          + 7   + 7   + 7           

 
Hence, there must be 98 in place of 108. 

  
Therefore option (C) is correct. 
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